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Unit 10 Review Sheet

lest Topics!
« Slope
o  Midpoint
o Distance
e Quadrilateral Proofs
o Trniangle Proots
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e Todedde i lines are parallel or perpendicular, first write the linesin _Slepe intercept form, whichis
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* Parallei lines have slopes thatare ___ T ™ Sam ¢

e Perpendicular lines have siopes that are _ne 5a+r‘ve re ¢ p rees!s

state whether the lines are parallel, perpendicular, or neither.
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- What is the slope of the line passing through the points (-5, 6) and (4, -3)?
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Vitiat is the siope of the line parallel to the line in question 47 _~ |
-Vhat is the slope of the line perpendicular to the line in question 47__{
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/. Adine wpasees threugh (6, 1) and (8, p). A line vpasses through (2, -3) and (10, -6). The lines v and v are parallel.

Find the value of p. - ,
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3. What is tne equanon of the line passing through the points A(4, -5) and B(-2, -2)? E & eg. of
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1. What is the midpoint of line segment AB with A(11, -5) and B(1, -10)?
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2. What is the midpoint of line segment AB with A(14, 18) and B(-6, 10)?
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3. What is the endpoint of line segment AB given A(4, 6) and midpoint M(-3, -2)?
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4. What is the equation of the perpendicular bisector of line segment AB with endpoinis
A(-4, -2) and B(8, 4)? ( SUYE -2+ ) Ay Has g
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5. What is the equation of the perpendicular bisector of line segment AB with endpoints
A(-9, 11) and B(-15, 19)?
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L Whete does the distance formula originate from? __pYy th agorean theore m

2 Vihat s the length of the iine segment connecting A(S, 9) and B(-7, -7)?
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3. What Is the fength of the [ine segment connecting A(3, 8) and B(9, 10)?
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S Tne point (-2,-6) Les on a circle. What is the length of the radius of this circle if the center is located at (9,-2)?
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5. 1ne point (19,-5) lies on a circle. What is the length of the diameter of this circle if the center is located at (6,4)?
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Quadrilateral Proofs
1. Prove that the quadrilateral with the coordinates L(-2,3), M(4,3), N(2,-2) and O(-4,-2) is 3 paralielogram.
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2. Given the points R(-1, 0), C(-3, -4) and K(0, -1), find the point O that mak s-Ré%@K-a rectangle Then prove it is a
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4. Prove that the quadrilateral with vertices A(-1,0), B(3,3), C(6,-1) and D(2,-4) is a square.
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5. Prove that quadrilateral MILK with the vertices M(1,3), I(-1,1), L(-1, -2), and K(4,3) is an isosceles trapezoid.
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5 Inparalelogram MATH, the coorainates of the endpoints of the diagonal MT are M (1, 3) and T (5, 1). Which of the
fellowing equations containe diagonal AH and would prove MATH is a rhombus?
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Triangle Proofs

7. Prove that A (0, 1), B(3, 4), C (5, 2) is a right triangle.
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8. Prove that A (-2, -2), B(5, -1), C(1, 2) is an isosceles triangle.
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